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Q1. 
Write the missing numbers in the sequence. 

  467,050     468,050     469,050    
2 marks 

Q2. 
Write the three missing numbers in the empty boxes. 

  
    

  

45,170 45,180 45,190   

55,170       

65,170       

        
2 marks 
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Mark schemes 

Q1. 
466,050 

1 

470,050 
1 

[2] 

Q2. 
Award TWO marks for numbers placed correctly, as shown. 

  
45,170 45,180 45,190 45,200 

55,170       

65,170   65,190   

75,170       

Award ONE mark for any two numbers placed correctly. 
[2] 


